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(4) Determine a rational parametrization of the circle

x2 + y2 = 1 .

(5) Decide whether the following algebraic curve C5 defined by

f5(x, y) = y2
− x3 + x2 + x − 1 = 0

is rational (parametrizable), and if so, compute a rational parametrization:

(6) Decide whether the following algebraic curve C6 defined by

f6(x, y) = y2
− x3 + x = 0

is rational (parametrizable), and if so, compute a rational parametrization:

(7) Consider the algebraic curve C7 having the rational parametrization

P (t) =

(

t5 + 1

t2 + 3
,

t3 + t + 1

t2 + 1

)

.

Compute the implicit defining polynomial f7(x, y) of C7.


